PRO - Design a Low-pass Finite Impulse Response (FIR) filter of order 6 (i.., this filter will
ve 7 coefficients: by, by, b, ..., be). This filter will operate on sequences sampled at a sampling rate
of Fs = 400 Hz. The cut-off frequency (upper edge of the pass band of the filter) should be designed at
( ﬂ/ fc = 100 Hz. Design the filter for a gain K = 10 in the passband.
a) Write down the numerical value of each of the 7 coefficients: by = ..., by = ..., etc.
b) Draw a block diagram for this filter, and include in it all the numerical values of the
coefficients that you found in your design. Also label the points in the block diagram where the
input sequence x(n) and the output sequence y(n) would be found.

c) Sketch the impulse response sequence, h(n), of the filter you designed, as a stem plot,
indicating the numerical value of the samples of h(n) for 0 <=n <=10
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